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IMPORTANT NOTES:

1) Please make sure that you have written your student number and name above.
2) Check that the exam paper contains 9 problems.

3) Show all your work. No points will be given to correct answers without reasonable
work.
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(8 pts.) 1. Find the values of z so that det(A) # 0 for the matrix A = [4 -8 1 ] :
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So det(A)=0 holds or\lL when x=0.
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(10 pts.) 2. If possible, solve the following linear system by using Cramer’s rule: (only
Cramer’s rule method is accepted)
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(10 pts.) 3. If the Augmented matrix of a system of linear equations is given by
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using elementary row operations, reduce the above matrix and find the solution (if any)
of the corresponding system.
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4. In each part below, find A, by use of the given information:

o)) a0 = 3 3] (it (A7) = (4YT)
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5. Evaluate the following integrals : /
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(10 pts.) 6. Find the area of the region bounded by the graph of y = and the

z-axis, from z = 0 to z = 1. (No need to sketch the region!) 1 e
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4 pta.) 7. Let w=w(u,v),s=2y, v=z—y. Suppose forz =1, y = 2, w,(1,2) =1,
wy(1,2) = 3 and w(2, —1) = 5. Evaluate w,(1,2) and w,(1,2).
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(4 pts.) 8. Find f,, for f(z,y,2) = yzIn(zy).
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(12 pts.) 9. Find four critical points of the function

flz,y) = %(3:3 +8%) — 2(c? +97) + 1

- and classify them as relative maxima, relative minima or saddle points using the
second derivative test.
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